39)
7.1
6.1(a)
P,(2)
63,64,159,160)
6.1
dy — _
Eplpd—_j =P (z) (-H< z<0) (7.1(a))
z
d'y, _
E, J,—=7=- Ey,(z20) (7.1(b))
dZ
;: z h , Z , H H'
’ Lp y Vi )
, Eplp , E,
P'(z) 1
Z [t [z . (7D
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_ — s B
yi=agta,zta,z tazz +f(Z)
2= e ¥ (4 cosfz + Bsingz)

dgy, A1, 4y, dgz, A, B

P'(z)

P’(Z):fl'l'fz;

fi f. (64)
(72(a))
- PSS PO S
1~ 0 1
2 3 24Ep1p 120E1JIP
(7.4) -
o z Z? i = f2  —a
_:a+2a22+3a3z+ 2o+ -
dz ' 6E I, 24E 1,
42
y1:2a+6a;+ Ja ;2+ J2 ;3
d 2 2 3 2E 1, T
3
dy1=6a+ f1 — J2 —2
d;a 8 Ep]p zEp]p
(7.2(b)) o
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(7.2(a))
(7.2(b))
(
4
(7.1)
(7.3)
(7 4)
(75(a))
(7.5(b))
(7.5(c))



_ - —2 z z
61_ a1+2a22+3a3z + 6Eplpf1+ 24Eplpf2

d _ _ —
dy_2 =- Be #[(4- B)cosfz+ (4 + B)sinfz] (76(a))
z
d’ : - =
di; = Zﬁze ) ﬂZ(A sinfz- Bcosfz) (7.6(b))
d’ : = =
di; = 2336'/“[(/1 + B)cosfz- (4 - B)sinfz) (7.6(c))
7.1
— —2 —3 f —4 f —5
yi1= agt a,z+a,z +azz + 24Elplp z 120E2plp z
2 3 H"
O0;.. yp=ao- ayH'+a; H' - az H' +mf1
H"”®
) 12015,,1/2

—2 —3
M= 2E I,a,+ 6E Jpazz + —§f1+ —éfz

—2

S1= 6E I as+ zf 1+ —— />

y,= e #(4 cosfz+ Bsinfz)

0,= - e P{(4 - B)cosfz+ (4 + B)sinfz}

M,= 2E ,I,8% (4 sinfz- Bcosfz)

S,= 2E 1,8 #{(4 + B)cosfz- (4 - B)singz}
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, (7.4) (7.2(b))

z=-H' z=0
(75) (7.6) ,
7.1
7.2
7.2
z
Ml—o 6;2 yl_o yl_o
H!
§$,=0 §$,=0 M,=0 6,=
Yi= D)2 Yi= Y2 Yi1= D)2 Yi= Y2
6,= 6, 6,= 6, 6,= 6, 6,= 6,
0
Mi=M, | M= M, Mi=M, | M= M,
§1= 8, §1= 8, §1= 8, §1= 8,
z y.=0 y.=0 y2.=0 y.=0
M,=0 M,=0 M,=0 M,=0
7.2
.72 (7.2)
(7.7)
a():A
ay=- (4 - B) (7.7)
a2:' BZB

3as= B°(4 + B)
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7.2
7.2.1 ag, ai, ap, az, 4, B

do, di1, dz, dgz,

(1)

d’,
[M] o2 o= = B[ =] o= 0

[S];:-H’:' [ —3]7 H':O

(7.7) (78) 6 (7.2)

7 [3(2+ BH')f1- H'(3+ 28H")f,]

4= TpE 1,8

a,= W[ES(“ BH")f1- H'(3+ 45H")f,]

n 2
0= o (31 2H )

= L - ]
asz= 12Eplp (zfl HfZ)

4 = —3[3(2+ BH)f1- H'(3+ 2B8H")f,]

E 1,8

n 2
B= i (3 2 )
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4,

B

(74)

(7.8)

(7.9)



(2)

0
dy
(0] = 4 = [ dy; ]z 4=0
d3y1
[S] T=.H' T T Eplp[ d;3]?:.H':0 (710)
(7.7) (710) 6 (7.2) (7.4)
4= ar T (1a gy B )+ BB+ Q) - H(SE(H )+ 1260 + 6]
- - (H)? , , ,

T 1 A1+ gy LA 280 - HI(6+ SEH ]
42= 48Ep1pglzi+ BH" [4(25°(H")?- 3)f1- H'(58°(H")*- 6)f,] (7.11)

_ __H' '
asz= 12Eplp (zfl' HfZ)

[4(28°(H") 2+ 68H "+ 3)f ;- H'(SF°(H')?+ 128H '+ 6)/,]

_ H'
 48E,1,B°(1+ BH)

_ - H'
48E 1,6°(1+ BH')

[4(28°(H")?- 3)f1- H'(58(H")?- 6)f5]
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dg=

a;

0
]z =Wl s =0
dzy
[M] . == EJJl—=5]1:..,=0 (7.13)
dz
(7.7) (7.13) 6 (72) (74)
(H)® , Nee HUTERHY 4 278+ 0),
- (H)? 307713 2(H')2- 6)f,- H'(1AF(H")?
OE 1 A1+ 21+ g7 L D@8 H) T+ SEH D™ O a- HI(UE(HD™ (7 1)
+ 278°(H')* - 30)f7]
(F]’)2 3 n3._ ' _ ,73H,3_ 308(H" - 30 ,
0E [ 2(r gy LB B O s TS 0 - 07
B(H ") 20 2 e 61 HY(OF (Y 4 2080 + 1),
20E 1 [1+ 2(1+ g7 LoOF (H)7+ 2B+ 6)f - H(SF(H')"+ 203(H) + 10)/2]
H)® ) Nfoe HOTRH Y+ 218+ 0,
DO, LA 1+ 2(1+ )] L@+ AN BHY - HITE(HT)™ 2151+ 30)f2]
-y [I5(52(H") - 64H - 6)fy- H'(TE(H')- 308H - 30)]

20E 1,5°[1+ 2(1+ BH )]

- 180 -



(4)

0
[y] ;:-H’: [yl] ;:-H': 0
d
16 s = 1 e = 0 (7.15)
z
(7.7) (7.15) 6 (7.2) (7.4)
- H)! 2 e ’
ag= 120E 1,(1+ pH")[2+ (1+ BH')%] [5(3+ BH') - H'(28°(H')?+ 9pH '+ 12)f,]
= - (H’)3 3.77rn3 207712 , 3,0 n3
= TDOE 1 (1+ g2+ (1+ B )] [10(5°(H")?+ 38°(H")*- 6)f1- H'(4B°(H")
+98%(H) - 1Y)
_ BHN? 307703 , o030 3
“27 T10E 1 (1+ pH)[2+ (1+ BH)] [5(8°(H') - 9pH'- 12)f - H'(25°(H')
- 128H"- 15)f5]
= BA(HN? , . .
9= T0E 1 [2+ (1+ gy LOET BH Y HI(S T 35 (7.16)
- (H"* 2 e, ’
4= TooE 1 (1+ g2 (1+ g G AT HI@EH )T 9B 12)f]
- - (H)® 3, na , s
B = "oom, 1 g1+ gyize (1+ gy DB 9T )y HIZE(HY)
- 2pH"- 15)f,]
(7.9),
(7.11), (7.14) (7.15) _ K f1% Ko,
K, K, 73
f1 /o
B fi
/o
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7.2.2 8

7.1 (7.9), (7.1, (7.14) (7.15)
Kyf1+ Ky, K, K,
, 74
75 0:-0 4
74
0
7.2.3 4
7.1 (7.9), (7.11), (7.14), (7.15)
Kyf1+ Ky, K, K,
, 7.6
77 6;:0 a,
7.6
0
7.2.4 M
7.1 (7.9), (7.11), (7.14) (7.15)
K f1+ Kof, K, K,
] M1 1M2'
, M, M, 78 7.9
z
(1)
M, max z=0
M, max 0
d3)’2
[S].5=- E ) [—=51:-5=0 (7.17)
dz
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—— 1 1, A +B
Z,= 00 Btan (A-B)
78 Z, ER
(7.17)
Y2 Z_3 0
(7.2)
¢ %74 cosfz+ Bsinfz,) = 0
= ptan (- )
, z EN
4
— 1 A - B
Z,= ©0 —Btan 1( A+B)
23, 1z,
(2)
M, max , z=
, M, max 7.18
z,
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(7.18)

(7.19)

(7.20)

(7.21)



(3)

(4)

7.2.5
7.1

Kif1+ Ko

(7.9), (7.11), (7.14)
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[S]:-7=0
: z=
z=0
(7.15)
K, K,
7.10



76

01

(K :91) t (K 192)1‘

é,

01= (Kg)f1+ (K2

_ _BH{(BH"*+ 3(BH") + 3}
(Kﬁi)t_ GEPIPBS

(BH \*{3(BH")*+ 8(BH') + 6}
24E 1,5

(K :92)[:

(Kﬁl)t: 0

(Kﬁg)t: 0

(BHY*{(BH"*+ 6(BH")®- 15(BH ") >+ 24(BH ")+ 18}
24E ,1,8°{ 1+ 2(1+ BH")%}

(BH N {3(BH )" + 16(8H 3+ 33(8H ") 2+ 45(SH ") + 30}

(K :91)[:

(Kg) = - 120E 1,851+ 2(1+ BH")Y

(Kﬁl)t: 0

(Kﬁg)t: 0




7.7

01,0,

Ky o Ky,

= K of1
+ K of

[(B2)°+ 3(BH") (Bz)>+ 3(BH ") (Bz) - 3(BH')(1+ BH')]

[6E ,1,8°]

_ [(B2)*+6(8H )2 (B82)%- 8(BHN(Bz) + 2(BH")*(3+ 4BH") ]

[24E 1,4

- g _(BHN[(2+ 2(BH' ))COSBz+ 2sin A7]
4E 1,5°

o b2 _(BH)’[(3+ 4(BH")) cos Bz + 3sin 5]

4
12E 1,8

[8(1+ BH') (Bz)°+ 24(BH")(1+ BH')(Bz)*+ 8(BH")(2(BH")?- 3)(Bz)
- 8(BH")*(3+ 26H ")/ [48E ,[,3°(1+ SH')]

[(1+ BH")(Bz)*- 6(BH")?(1+ BH')(Bz)%- (BH")*(5(BH")?- 6)(82)
+ (BH ") (6+ 58H")1I[24E 1,8 (1+ BH")]

gz _(BH")[{4(BH "+ 6(SH' )}COSBZ+ {6(BH ") + 6}sin Bz]
12Ep1p,8 (1+ BH")

g7 _(BH’[{10(8H")* + 12(8H ") Ycos Bz + {12(BH ") + 12}sin 2]
48E 1,8 (1+ BH')




78

M, max ,M,max

(KMi) max 1

(KMl)max—' 2

H'?
(KMz)max = 3

(K ) _ €-ﬂ72 [3BH’{2+ (BH')}Sin,6’2_2+ 3(BH,)ZCOSBZ—2]

My = (KM1)maxf1
+ (sz)maxfz

643°
_ e (BH) {3+ 2(8H )sin fz, + 281 cos iz,

(KM )max - e >

2 GB
(K v max = (BHN{(BH")?+ 3(8H") + 3}

M) max 632(1+ BH’)
(K 1) may = (BH ") {3(BH")2+ 8(BH') + 6}

M,) max 2433(14. BH’)

[{2(BH")?+ 6BH "+ 3}sin fz,+ {2(H")*- 3]
64°(1+ BH")

, [{5(8H")*+ 128H" + 6}sin Bz, {5(BH")*- 6}co

245°(1+ BH")

(KMl)max: - e'ﬂ;(ﬁl—[')

(KMz)max= e ﬂz(ﬁ[’[’)




78

M., max ,M,max ( )

Mmax = (KMl)maxfl
+ (sz)maxfz

(KMi) max 1
(Kur)mac = - [(BH){(BH)- (BH')- 6}+ (BH")*(Bz){5(8H")" + 12
+ (Bz)H2(8H")°+ 6(BH")+ 6(BH") + 3}/ [4B7{ 1+ 2(1+ (
(K max = [(BH){7(BH")®- 30(8H') - 30} + 3(BH")*(Bz ){9(BH ")+
- 10(Bz,)%2(BH")’+ 6(BH")*+ 6(SH ') + 3}]/[604°( 1+ 2(1
(K oy ) g = LB L= (BH)*+ 6(BH ) + 6]
o ma [487{1+ 2(1+ (BH"))*}
(K ) g = LOBHAT(BH " - 30(BH) - _30}]
o me [604°{1+ 2(1+ (BH")*}
(K ) g = - —CBHO{(BH )+ 6(BH) "+ 15(5H )"+ 24(5H ) + 18}]
Ml me [124° (1+ BH") {2+ (1+ (8H ")}
(K1) e = LBV {B(BH ) + 16(5H ) + 33(H )"+ 45(pH ) + 30}]
Madme [604° (1+ BH") {2+ (1+ (8H")*}]
(K ) = - —LUBHL(BH) - O(fH") - 12}]
o ma [124° (1+ BH") {2+ (1+ (8H ")}
(K ) e = —LBHNH2(8H )" - 2(8H) - 15]
SMEC[6048° (1+ BH) {2+ (1+ (BH ")}




79

M =Kyf1
+ K yf

My, M,
Ky, ,
K, = [(B2)°+ 2(8H")(Bz) + (BH")?]
: [24°]
K, = 182)"- 3(BHN (Bz) - 2(BH")’]
2 [65°]
K, = o #(BHN[(2+ (BH")sinfz + B cos ]
: [26°]
K, =- e A (BHNT[(3+2(8H")sin gz + 26 cos fz]
: [66°]

K, = —13(L* BH") (Bz)"+ 6(8H ) (1+ SH)(Bz) + (BH)(2(8H) - 3)]
1 [64° (1+ pH )]

Ko = 141+ H") (B2)°- 12(BH)*(1+ BH)(Bz) - (BH)*(5(8H)%- 6)]
B [248° (1+ BH )]

K. = o # (BHNI{2(8H")"+ 6(B8H") + 3}sin Bz + {2(BH")* - 3}cos jz]
b 64°(1+ BH')

K. = o # (BHNI{5(8H""+ 12(8H") + 6}sin Bz + {5(8H")"- 6}cos Bz
" 244°(1+ BH")




79 M, M,( )
Ky, ,
Ky, = [2{1+2(1+ gH")}(Bz)*+ (Bz)*{5(BH ") + 128H " + 6}(Bz)
+ (BH){(BH")- BH'- 6} [48% 1+ 2(1+ SH')*}
Ky, = [10{1+2(1+ SH")*}(Bz)°- 3(B8z)(9(BH ")+ 208H '+ 10}(Sz)
- (BH){T(BH")®- 308H - 30}1/[608% 1+ 2(1+ SH ')}
K = o #_(BHN'[BH'(2+ BH")(3+ BH")sin Bz + {(BH")*- 68H'- 6}cospz]
" 4B {1+ 2(1+ BH )Y
K. = g (BHN{T(BHN + 27(BH ")+ 30(BH") }sin Bz + {7(BH")*- 308H ' -
’ 6051+ 2(1+ BH )%}
M =K, f Ky, = [6(1+ BH){2+ (1+ BH')’}(Az)"+ 6(8H ") {(BH") " + 3BH '+ 2}(Bz)
+ K uf 5 + (BH)(BH")- 9BH" - 12}/ [128°(1+ BH") {2+ (1+ sH ")}
Ky,= [10(1+ SH"){2+ (1+ SH)*}(Bz)°- 3(8H")*(38H '+ 5)(1+ SH')(fz)
- (BHNM2(pH") - 1280 - 15}]1[608°(1+ BH'){2+ (1+ SH ')}
K = oA _(BHNI{BH (3+ BH')’ysinfz + {(BH')®- 9BH'- 12}cosfz]
" 124°(1+ BHY{2+ (1+ H")}
K, = g (BHN[{2(BH ")+ 9(BH N+ 128H }SInBz+{2(BH) 128H"- 15

608°(L+ BH ") {2+ (1+ BH ")’}




7.10 , §$1,8,

K,
- _[(B82)+ (8H1)]
Ko (4]
- _1(82)%- (8N
KSQ_ [262]
K. = o (BHN[2cospz- (2+ 2BH) sin Bz]
S, = e GB
K. = o 6 (BHN[- 3cosfz+ (3+4BH) sin Bz]
S, = € 662
S = Kofy Ky = [(Bz)[+B](BH’)1
+ Ksf _
k.= L(B2)- (8H)]
E [25°]
K.z o £ _(BHN{B(BH") + 6}cos Bz - {(4(BH")*+ 68H") sin B]
5 64(1+ SH')
K.z o #_(BHN'[- {12(8H") + 12}cos Bz + { (10(BH")* + 128H") sin jz]
B 248°(1+ BH )




7.10 : §1,8,( )

K S,

1

K. = 4L+ 2(1+ BH)N(Bz) + (BHNHB(BH )+ 121" + 6}]
. [48{1+ 2(1+ BH")*}]

k.= 130{1+2(1+ BN} (Bz)"- (BH){9(BH")*+ 208H '+ 10}]
. [2047{1+ 2(1+ BH")*}]

ko= o A _(BHN?[{5(8H ")+ 1281 + 6}cos Bz - {2(8H")"+ 5(8H")*- 6}sin fz]
" 4B(1+2(1+ pH )%}
Ko =- o (BN [{27(8H")" + BO(SH ) + 30hcos Bz + {1A(SH )" + 27(H )*-

’ 60,6’{1+ 2(1+ ,BH)}

[95)
+ 1
>
[}
SN
=

K, = 22+ (A% BHNY(B=) + (BN (A+ fH)]

: [28{2+ (1+ BH")}]
[10{2+ (1+ BH )} (B=)>- (BH)'(5+ 3BH")]

Ko (208 {2+ (1+ BH )]

K = o #(BHN[{6(8H )"+ 185H '+ 2}cos fz - {2(BH )"+ 6(SH ) - 12}sin
: R24(1+ BH {2+ (1+ BH )%

K = o #(BHN'I{9(BH )"+ 203 + 15)cos bz - {A(BH ")’ + 9(SH)"- 15}sin

a 6042 (1+ BH'){2+ (1+ BH ")}




77 01, 6,( )
Kg v Ky,
K= [20{1+2(1+ BH")*}(Bz)%+ 15(8H ") {5(H ") + 128H" + 6}(Bz)°
+ 30(BH ") {(BH") - BH'- 6}(Bz)- 15(SH"){2(BH")*+ 5(BH")*- 6}]
IT120E 1,81+ 2(1+ BH')’}]
Kg= [5{1+2(1+ BH")}(Bz)"- 30(BH")*{9(BH ")+ 208H '+ 10}(Bz)°
- 2(BH"{T(BH")®- 308H'- 30}(Bz) + (BH'){14(BH ")+ 27(BH")?- 30}]
IT120E 1,81+ 2(1+ BH')°}]
Ko = . o F(BIN[{2(8H+5(8H")"- 6}cosfz + {5(BH")*+ 128H "+ 6}sin jz]
b 8E 1,8°(1+ 2(1+ BH")°%}
K = o # (BAN[{14(BH"’ + 27(8H")"- 30}cos Bz + {27(BH") "+ 60BH '+ 30}sin fz]
b 120E 1,81+ 2(1+ BH")*%}
5=k Kg= [20(1+ BH') {2+ (1+ BH')*}(Bz)*+ 30(BH")*{(BH")*+ 38H '+ 2}(Bz)°
JK;ffl + 10(8H ") {(BH)*- 9BH - 12}(Bz) - 10(8H")*{(8H")*+ 3(BH")*- 6}
2 IT120E 1,8 (1+ BH") {2+ (1+ SH ")}
Ko= [5(1+ BH') {2+ (1+ H")}(BH")* - 3(8H ") (381" + 5)(1+ BH ") (Bz)’
- 2(BHN{2(BH ") - 128H"- 15}(Bz) + (BH")*{A(BH ")+ 9(pH ")~ 15}
IT120E 1,8 (1+ BH") {2+ (1+ SH ")}
K= . o b (BHN’[{2(BHN®+ 6(BH")’- 12)}cos Bz + {6(8H )+ 18BH '+ 12}sin Bz]
: 24E ,1,6°(1+ BH"{2+ (1+ H ")}
Ky= ¢ (BH ") [{4(BH ")+ 9(8H ")~ 15)}cos Bz + {9(BH")?- 15}sin fz]

120E 1,5 (1+ pH'){2+ (1+ gH "))



7.3

7.3.1
72 Ks
K K,
K, K,
7.1 -
ag, ap, az, az, ,A B
7.1 - 76 K
77 - 7.9 , Ku Ko
7.1 Ku Ko
7.15 K Kz
7.17
gH' Bz 0- 10
7.11
| g Bz 7.11
) H'
z O0<H =z < a
a 8
Ki, K,
Bz ’
K. K, K. K,
7.18
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7.4

74.1
5
) 51
5 b
6
E,
7.4.2
(6.2) P(2)
P(z)= 1659+1.848x z
1 @
a, = 0.05589

p,(z)
P,(z)= a, P(z) = 0.05589(1.659+1.848) xz = 0.09272+0.10328x z
f,=0.09272 f,=0.10328

E.
_ 4 s _ -1
B= a5 = 0.348m

Pp

£2=0.121104m " *
5= 0.004214m " °
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BH'=3.9011  H'= 11.21
E,I,B= 1490.832 ton.m

2 _
E,l,4° = 518.8095 ton
Epl,8= 180.5457 t/m
Epl,3 = 62.8299 t/m®

Epl,f°=21.8648 t/m®

, H' z BH' Az
X BH'(
(G ) y
K1 K2 K.f1+Kof2
6.2
7.12
7.13
7.12 ag, ai, a,, as, A B
K K, Kof1+ Kof,
ag 0.06001 -0.38139 - 0.033825
a - 0.03096 0.20489 0.018290
a, 0.00351 -0.02510 - 0.002267
as 0.00044 -0.00244 - 0.000212
A 0.06001 -0.38139 - 0.033825
B - 0.02897 0.20738 0.018730
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7.13

(cm) (t.m) (ton) (rad)
(m) Kaf1t K gfs | Kyd1+* Kyofo | Ksf1+ K sofs | Kaf 1+ K gf 2
0 - 24.66 -50.4673 0 0
4 -931 -49.8705 - 2.0958 -0.04344
5 -553 -47.3167 -2.8798 - 0.03206
6 -287 -44.1319 -3.5615 -0.02132
7 -1.23 -40.2672 -4.1408 -0.01150
8 -0.54 -35.9276 -46151 -0.00267
9 -0.67 -31.0781 -4.9898 0.00522
10 154 -25.9330 -5.2621 0.01187
11.21 3.38 -19.4401 -5.4508 0.01828
12 2.56 - 14.8956 -4.0745 0.01391
13 181 -10.6712 -2.8192 0.00987
14 1.27 -7.5803 -1.9440 0.00696
15.69 0.7 -4.2811 -1.0341 0.00388
16 0.63 - 3.8595 -0.9203 0.00348
17.19 041 -2.5900 - 0.5906 0.00230
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